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Which of these is not a function of the Kidney?

replace waste products

All are true of the kidney, EXCEPT

the left being lower than the right

The average weight of the kidney in adult males is about ______

150 g

By the __, the foetal kidney is functional and commences urine production

tenth week

This is not included among kidneys endocrine functions

excrete the end products of metabolism and excess water

All are true about the kidney stones EXCEPT

superior to the vas deferens

The kidney changes ____ times before it is completed!

3

The capacity of the average renal pelvis is

less than 5 mL

All are true EXCEPT

The renal papilla is surrounded by a major calyx

By week five the ureteric buds sprout from the Wolffian ducts and develop into the 
definitive kidneys that will serve the child for life

week five
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